Coalition for
Better Ads

OA3& 410 B (06.14.2019)

e gns dE oot g2, O|F0A & = AXO[ FOjLIet HO|X[2] =2
|

ZHES JHELICE Ol 2et &40 & H|O[X| o] 2H =7t 2 EE[7] A%t ChZ EA|E LT,

Interpretative Advisory

ac|ot g XS sl S Y E

222t e Ats sl = S s AFEA &2 58 Q0| = 22t et At =

A Y& LT


https://cdn2.hubspot.net/hubfs/4231068/Better_Ads_August2018/PDF/CBA-Interpretative-Advisory-9-15-17-3.pdf

Coalition for
Better Ads

7| et 72 ECR 0= HO|X[e] 2HIEI 2REL| V] O #A[ELCH O] 17t
(e}

* Z O}

[ Ry

kol
>
m
e
>
oo
>
rr
0
kl
mjn
no
mjo
>
$0
-
m
N
-
k!
|_
N
>
>
Hu
N
Ok
>
i
F

e 0% Zoe AFRAY| AT ETHe B2 9{0] H O|X| 3FEHo] A E|of EAE LIt
ol AH

AEAZHEHO|X| S BT M S 2 Y Qo] L E & 1071 ot Ol 30% O] & = AHA| gL Ct.



Coalition for
Better Ads

DY &0 ZH (06.14.2019)

i o I | (m | re) L
HHFn Y x| 5H ZD
B 2o 7[2 HOoX|7t 2EE = 1 2{0f BA|Z|0] 2HIXE 7HEIL|CH =7| otH
%FEEEHOIXIQIE—EJ'&WEEEPI Mol EAIZ|H, MA| =2t HOAM 2t H LENK] 2 7|7t
CHASH D, AFEAZL =2 EHEE AFE S 4= QIA CHELICH BHY 09t &7| 2tH
0= 3tH 22| HEX| S L T
Interpretative Advisory

N =
30% O|&to| &1 H|F
D HY M O|X[O|M 07t Fo ZEHX EE2| M2 =0[Z 7[E2 2 30% 0| &=
KX St= dR0l= HAE, 33, & O|0|X] &2 &1 A nt= A 80| ALEALE
oliote S0 20| gL ch nd &0 3 eletel A E of7[0f =ghE Lok,
O L2 &0 #50= 4 Oo|X] 2 E“*%EFE._ U= sFY BUEIFEHALZ| H (=22
E= BALE 2500 EE)0 LIes Z07F Zete[X| EEL[CH

Ztatol = ofL{n 0| M F 1

e - o1


https://cdn2.hubspot.net/hubfs/4231068/Better_Ads_August2018/PDF/CBA-Interpretative-Advisory-9-15-17-3.pdf

Coalition for
Better Ads

k1

0| of Lo

2L

TS W SR HEE BiE L A AT} S S 0|

0

222t e Ats MRl s S s AFEA &2 58 Q0| = 22t et At =
A Y&l LT

O L2 &30 #50= Ho[X] 2 E“XEEPEFE._ U= S ZEHE7FEAEZ| H(=2[E)
& = ES(0EE)0 s giLh 22| 5 A H st =580l O

|
070 2 E|X| HgL

712 ECt20| =gt OfX| 9 2fH E

72 ELH2 EtO|H 7L 2t &l OFX| 8} ot Z 1= ALEXA7E EAE ekt =0
HA|ELCH Ol 07t BA|Z|H ALEAZ7F SIS B S 4 A = AL, S7F B9 AL,
CHE HO|X| 2 2| C|= a4 & W7HK| &R = S¢t 7



for
S

ion
Ad

ti
r

_’I Coal
Bett

KH
IH

_||_
F0

ol
[
of-
[0
4|
o<

<+
ofru
uu
<
KIF
i

#0

Okl

Okl

—t—

m

2| x| L

IH

£
Ho

= 0| X[2] 30% O| &= AtX|SHH, T O] X[ 2 =L

In!
o
ZH= 20 [H M AFEXIZF EX| Z5HA|

FL|CF.

-
o
=]

AEXLS| A3 F 1= 2 810] 2t | O] X| eh=0f g & Of

FA

BHAIELCHLO|EA &2 810

L|Ct.

FHO| 30% O] &= KtX| &t

(=]



